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T = HE i "
- P R (40) I (s )
Wrom B gl T T A 3 I &= oo Bk gl T A 3 I i
NO. 0-5. 32 0.0 0.0
NO. 0-4. 02 1.3 0.0 0. 00 0.0 0.0 0. 00 0.0
NO. 0-2. 52 1.5 0.0 0. 00 .0 0.0 0. 00 0.0
NO. 0 2.5 16.4 8.20 20.5 0.0 0. 00 0.0
BC. 1 (NO. 0+13. 849) 13.8  20.8  18.60 256. 7 0.0 0. 00 0.0
NO. 1 6.2 20.1  20.45 126. 8 0.0 0. 00 0.0
NO. 1+8. 00 8.0 .8 12.45 99. 6 0.0 0. 00 0.0
NO. 1+10. 000 2.0 .8 4. 80 9.6 0.0 0. 00 0.0
SP. 1(NO. 1+13. 402) 3.4 .8 4. 80 16.3 0.0 0. 00 0.0
NO. 1+16. 08 2.7 18.8  11.80 31.9 0.4 0. 20 0.5
NO. 2 3.9  18.8  18.80 73.3 0.4 0. 40 1.6
NO. 2+4. 71 4.7 17.0  17.90 84. 1 0.4 0. 40 1.9
m IIl3 m3
= 50. 0 718.8 4.0




W1 4T + M O A =
Al o P B+ (B<2.5) %+ (2. 5=B<4.0) %+ (4. 0=B)
Wrom B gl T T A 3 I = W | F 3 gl T A 3 I i
NO. 0-5. 32 0.0 0.0 0.0
NO. 0-4. 02 1.3 0.0 0. 00 0.0 0.0 0. 00 0.0 0.0 0. 00 0.0
NO. 0-2. 52 1.5 0.0 0. 00 .0 0.0 0. 00 0.0 0.0 0. 00 0.0
NO. 0 2.5 1.3 0. 65 1.6 0.0 0. 00 0.0 0.0 0. 00 0.0
BC. 1 (NO. 0+13. 849) 13.8 1.6 1. 45 20.0 0.0 0. 00 0.0 0.0 0. 00 0.0
NO. 1 6.2 1.5 1.55 9.6 0.0 0. 00 0.0 0.0 0. 00 0.0
NO. 1+8. 00 8.0 0.5 1. 00 8.0 0.7 0.35 2.8 9.3 4. 65 37.2
NO. 1+10. 000 2.0 0.5 0.50 1.0 0.7 0.70 1.4 9.3 9.30 18.6
SP. 1(NO. 1+13. 402) 3.4 0.5 0. 50 1.7 0.7 0.70 2.4 9.3 9.30 31.6
NO. 1+16. 08 2.7 3.9 2.20 5.9 0.0 0. 35 0.9 0.0 4. 65 12.6
NO. 2 3.9 3.9 3.90 15. 2 0.0 0. 00 0.0 0.0 0. 00 0.0
NO. 2+4. 71 4.7 2.1 3.00 14. 1 0.0 0. 00 0.0 0.0 0. 00 .0
m IIl3 1’113 IIl3
= 50. 0 77.1 7.5 100. 0




W1 4T + M O A
- P PRIk SA G S W) LR (8) 1)
Wrom B gl T T A 3 I &= oo Bk gl T A 3 I i
NO. 0-5. 32 0. 00 0. 00
NO. 0-4. 02 1.3 0.00  0.000 0.00  0.00  0.000 0. 00
NO. 0-2. 52 1.5 0.00  0.000 0.00  0.00  0.000 0. 00
NO. 0 2.5 0.00  0.000 0.00 11.09  5.545 13. 86
BC. 1 (NO. 0+13. 849) 13.8  0.00  0.000 0.00 10.69  10.890 150. 28
NO. 1 6.2 0.00  0.000 0.00 10.86  10.775 66. 81
NO. 1+8. 00 8.0 5.19  2.595 20.76  8.06  9.460 75. 68
NO. 1+10. 000 2.0 5.19  5.190 10.38  8.06  8.060 16.12
SP. 1(NO. 1+13. 402) 3.4 5.19  5.190 17.65  8.06  8.060 27. 40
NO. 1+16. 08 2.7 3.83  4.510 12.18  1.62  4.840 13.07
NO. 2 3.9  3.83  3.830 14.94  1.62  1.620 6. 32
NO. 2+4. 71 4.7 0.00  1.915 9.00  0.00  0.810 3.81
m IIl3 1’113
= 50. 0 84.91 373.35




fE¥+T + M O A
- P PRAE (H45) PR ()
Wrom B gl T T A 3 I &= oo Bk gl T A 3 I i
NO. 0-5. 32 0.0 0.0
NO. 0-4. 02 1.3 8.9 4.45 5.8 0.0 0. 00 0.0
NO. 0-2. 52 1.5 8.9 8.90 13. 4 0.0 0. 00 0.0
NO. 0 2.5 4.1 6. 50 16.3 0.0 0. 00 0.0
BC. 1 (NO. 0+13. 849) 13.8 4.2 4.15 57.3 0.0 0. 00 0.0
NO. 1 6.2 4.2 4.20 26.0 0.0 0. 00 0.0
NO. 1+8. 00 8.0 4.1 4.15 33.2 0.0 0. 00 0.0
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NO. 0 8.27 1. 66
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m I’Il3 m2
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NO. 1+16. 08 1. 03 0.121
NO. 2 3. 98 .6 1. 60 6.4 1. 03 1. 030 4.10, 0.121] 0.1210 0.482
NO. 2+4. 71 4.78 1. 60 7.6 1. 03 1. 030 4.92) 0.121] 0.1210 0. 578
m m? m? m? i
& i 8.76 14.0 9.02 1. 060 0. 00
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At

A&

b e F

500

- BEaIVYY
B=Hx0.2+500 EPTIEDS
ock218N/mm2
nER
LS Hmm) hi(mm) | h2(mm) | h3(mm) | hd(mm) [ h5(mm) | SL1 (mm)| SL2(mm)| SL3 (mm)| SL4 (nm)| B (mm) Wimm)
NO.1+16.08 5600 5050 550 4000 4110 990 5646 4291 4176 1034 1620 440
NO. 2 5600 5050 550 4000 4110 990 5646 4291 4176 1034 1620 440
NO.2+4. 71 5600 5050 550 4000 4110 990 5646 4291 4176 1034 1620 440
EC. 1(ND.2+12.955) 5600 5040 560 3990 4100 1000 5635 4280 4166 1044 1620 450
ND. 3 5500 4910 590 3850 3970 1030 5489 4145 4019 1075 1600 470
NO.3+18.46 5300 4720 580 3670 3790 1010 5277 3957 3831 1054 1560 460
NO. 4 5300 4720 580 3670 3790 1010 5277 3957 3831 1054 1560 460
EP(NO. 4+3.663) 5300 4790 510 3750 3870 930 5355 4040 3915 M 1560 410
HnEX
LS avyy=+rimd) Bi(n2) EBI(#n2) EABE(n3) EERE(n2) AT =34vayhY-+(n2) | BR2 S Y —t(n3)
NO.1+16.08 5.974 10,44 5.65 2.12 1.6 1.03 0.121
NO. 2 5.974 10,44 5.65 2.12 1.6 1.03 0121
NO.2+4. 71 5.974 10,44 5.65 2.12 1.6 1.03 0121
EC. 1(ND.2+12.955) 5.974 10.42 5.64 2.1 1.6 1.04 0.126
ND. 3 5.813 10.13 5.49 2.04 1.6 1.08 0.139
NO.3+18.46 5.497 9.73 5.28 1.95 1.6 1.05 0.133
NO. 4 5.497 9.73 5.28 1.95 1.6 1.05 0.133
EP(NO. 4+3.663) 5.497 9.90 5.36 1.99 1.6 0.97 0.105
Lom ¥4 v ¥ =
o ) e =
e S N HAL =
. 2 3
a7 K~ 1 o ck=18N/mm* |1/2 X (0.50+B) X H+1/2 X 150 X 500 m
H e RS | SL1+SL2+500 2
A NEFH IS + + m
~ h 3
BAEA RC-40,t=50cm |1/2 X (SL.3+SL.2) X 500 m

2T

HUE R

SL1

S IE = B m?
N =4vas)) =N | S5, t=Hem  |SL4 m?2
HER27)-) | o ck=18N/mm” |1/2XWXh2 m3




1530 FHF T

Al il B % | s i B = HAL | /) z & 2
HIE & NO. 0-2. 20~N0. 0+0. 12 m 9 39
a7 U—h o ck=18N/mm2 1/2X1.33X2.32 m® 154




253V AFITF L

Al il H % | s i B = HAL | /) z & 2
HIE & NO. 1+16. 08~NO. 2+4. 71 m 8. 63
a7 U—h o ck=18N/mm2 1/2X1.04X8.63 m® 4 49




HH il Hi F& GiRes ! 2V HAfL 74N a i
It NO. 0+11. 314FifF m 5.12
R EVARIN Y DKEd 1FE, ¢ 500 5.0/10.00X5. 12 N 2.6

HE LA L Blakk 1:3 0.131/10. 00X 5. 12 m? 0.07

SR RC-40, t=15cm 6.40/10. 00X 4. 70 m? 3.01

Ha e +wp 6.4/10. 00X 4. 70 m? 3.0
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Al il B % | R & B eV HAL | b z & =
It NO. 1+13. 12fFifF m 4,27
A =V VU, ¢ 100 2.5/10.00 % 4. 27 IS 1.1
b EHfE b 1.84/10. 00X 4. 10

m 0.75




SEERL
Al il H % | e & B 2 AL | b “
W NO. 2+1. 30fF3T m
A =V VU, ¢ 100 2.5/10.00X 1. 97 IS
o ALk w 1. 98/10. 00X 0. 59




NV 2 N N = = John
B E R EE
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616
58 500 |58
= EREE(4500)

b= \ | BEETILAIL
o]
102 436 10 EBRPRE
' ' RC-40
640
10.0m 4 v ¥ =
va PR i & " = HAT | %% i1
B -basE | 1FE, ¢ 500 10.00/2.00 7N 5.0
Fr L2 )L Bea ke 1:3 ]0.436X0.03 X 10.00 m’ 0.131
pEw Yo RC-40, t=15cm |0.64 X 10.00 m? 6.40
I +wb 0.64<10.00 m? 6.4
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306
106 100

100

10.0m 4 v % &

va PR i & = = HAT | %% i1
HAbE =V VU, ¢ 100 |10.00/4.00 /N 2.5
WO R wh (1/2%(0.66+0.60) X 0.306— 7 X 0.1062/4) X 10.0 m> 1.84




i

WAL & & G B E

ao
s
i
H

670

; EEZLE
(VU@ 125)
600 BER
10.0m 4 v ¥ =
va PR i & = = X (VAR =4
HAbE =V VU, ¢ 125  10.00/4.00 /N 2.5
WO R wh (1/2%(0.67+0.60) X 0.333- 1 X 0.13372/4) X 10.0 m> 1.98




m 1] poil ¥ k=2 7 =V B N B & F
Wt 4k INO. 0+0. 20~NO. 1+8. 00 m 28.90
K3 INO. 1+8. 40~NO. 1+16. 08 m 8. 00
&t m 36. 90
a7 U — Ntk
=B a/))-b, o ck=18N/m2 | t=20cm | K B T &5 HARILE X v m? 123.18
e e | SD295, D6, 150 X 150 W T8 R RN X v m? 123.18
g PR, RC-40 | t=20cm | PR B8 T A &5 HARBL & v m? 123.18
Fm +w W T8 R RN X v m? 123.18
Mk 27 U— 1
a7 Y—F o ck=18N/mm2 | A% |0.70X0.35X1/2%0.50 m? 0. 061
il e /N E ) AES 0.49X%0. 50 m? 0.25
H Hipf TEFHAEE, t=10mm 3. 74X0. 385+ (3. 72X 2+4. 03) X 0. 20 m? 3.73




poil ¥ Fia=a B " =X HNT 7N 3 & B
NO. 0-0. 12~N0. 3+1. 23 m 44, 59
FAEBRLEEAS, t=5cm AFEEAE IR THCER AR L v m? 75. 15
A 79v4=77, t=10cm SHEEEIH Ié&%% HARHLX X v 2

m 75.15
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gl Bl ¥ 5 7 ) = Hifr N 3 A F
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&+ B<2.5 m?
2.5=B<4.0 e - THEELD 178.2+18.5 m®  196.7
4.0=B R L THHEELDY 243.0 m® 243.0
it m® 439.7
ES m® 439.7

K+ 9 A e 146. 0
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%A 71 L=54.0m
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\& 4000 =
} 4500 }1000}
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s=1:50
300 3000 XA 72 1=43.0m
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% ¥ B5O® B B
iR 4 0<B - -
o + |2.55B<4.0 3.7
I B<2.5 - -
o
o
g
= — —
o N— =~
10m & U %% =
4 PR H s B 7 BN K 5
A (24 71) 4.0=B R TXEY  4.5X54.0 m3 243.0
2.5=B<4.0 {p¥ LKXH 3.3X54.0 m3 178.2
(A 72) 2.5=B<4.0 {RF LTIV 3.7X5.0 m3 18.5







